

Converting Celsius to Fahrenheit (F)

Estimate or convert the temperatures.

$52\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-61\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$4\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$51\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$26\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-55\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-13\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-43\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-38\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-90\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-40\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$82\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-62\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$99\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-72\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$95\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-27\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$76\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$62\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$9\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-23\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-48\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-34\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$73\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-99\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$96\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-1\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-40\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-13\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$87\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$